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2HS:     ا��
دو���ن ه��   .1 S− −− −− −− 2Hو             − S HS −−−−  1  

  1,5  )2(ا������   . 2
  ����ت ا������  .3

  
1,5  

� ا������   .4���  :���د�ت ا��

( s ) ( aq ) ( aq )NaHS Na HS+ −+ −+ −+ −→ +→ +→ +→   �00000000000001ء+
- 2- +
(aq) 2 (l) (aq) 3 (aq)HS + H O     S + H O        (1)→→→→  
- -
(aq) 2 (l) 2 (aq) (aq)HS + H O     H S + HO      (2)→→→→  
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  ا���*�  ا�()اب  ر#" ا�&%ال
1.  

)))):      ا��*آ�
 ا��/�  ا����   ))))
-3 -1

2

s
C = = 1,34.10  mol.L

M I
   

 5�s 0 ,340 g / L====   7/ل���ذو�8'�� ا.  

  
0,5  

2.     1.2.   
+: ا��*آ� -1K = 0,241 mol.L          1  

� ا�%#!    .2.2        ���r,iQ:     =�رج ا�� = 0  

  

1  

        3.2.  
���د�� �B� B =2ل ��8�A ا��/ازن '�/?� إ�� : (&�ب '&%� ا��$#م ا����!  

       xf = 1,957.10-2 mol     :ا�#ر�� ا��C'�� و�8����  '�# ا�$��� 
5�mol           xmax = 1,97.10-2D99,34 = 9934, 0 =  و��%   τ  

2  

        4.2.  
                                                            : (&�ب ا��*اآ�
 ا����!�� 

                           [K+
(aq)]f =0,241mol.L-1                             

             [I-
3(aq)]f = 3,914.10-2 mol.L-1 

[I2(aq)]f = 2,6.10-4 mol.L-1 ; [I-
(aq)]f=0,20186mol.L-1  
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��� F  (��� و�/د اE0/ن  2Iذو�8'��   .5.2        G*� #�I   F.  1  ا���7/ل −−−−
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1.  
:      ا��*دد ه/

15
N 0 ,25 Hz

60
= == == == =    

0,5  
  

2 .  
: ا��#د ا�
���� ا������ �'��Hر ا��/�� ه  

T
t  = k.T +

2
∆∆∆∆  

1  

3.  
I7�J� :air ا��&��Fت ا������ ه   air

T
d  = v . t  = v k.T +

2
∆∆∆∆     

    
    

  

min: ا��&��F ا�#'�� ه   air

T
d  =  v 680m

2
     ====    
    
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  ا���*�  ا�()اب  ر#" ا�&%ال
1.  K�L��8 ب�L'و ���G*� #� ��!�8*آ� B�M ���G #, ��'0  .  1  
2 .    1.2.  

2:       ا��N,� ا���*�8!�� 
0 0

1
E .C .U

2
====           0E 4,7J����  

21:          8�# .�� أ�Eم    
E .C .U

2
====              E = 3J  

  
1  

       2.2.  *G/��ا O,���E ، 8�N$�.زل ا�� �����8 �L�E B�./%� B� IC���ن ا/��E 
 IC���ا  N8*� B�8 Q%&8 ��7?/��ا � ����R�اQS*��7/اء ا.  

  

  
1  

3     .1.3.   *G/��ا *�%�G  :
t-
τ

0u(t) = U e  1  

        2.3.   B� ���8�Aτ ا�
�B :   ,���  آ =  2323168,2 s     
  R= 155 MΩ:      �$�و�� ا���Rع 

1  

4     .1.4.    %E*���ا Q*آ���ا : IC���/ازي �5 ا���7 ا�ا��/?2ن �*آ%�ن 
éqR: �$�و����� ا�����WF ه    = 37,8  MΩΩΩΩ  

1  

        2.4.   ��8�A B�
  s         0,5 567000 =:ا�
        3.4.  IC���غ ا*���� ����
  t = 2835000 s = 32j19h30min  1∆     : آ�7ً� ا��#ة ا�

  

  ا���*�  ا�()اب  ر#"  ا�&%ال

1  C6H8O6(aq) + H2O(l)                C6H7O6
-
(aq) + H3O

+
(aq)  0 ,5  

2   [H3O
+]f . [C6H7O6

-]f 

[C6H8O6]f  
0,5  

3 [H3O
+]=[C6H7O6

-]=10-PH      ,        [C6H8O6]=C-[C6H7O6
-]     

  

r = [C6H8O6]f  /    [C6H7O6
-]f    

3  

� ا������    4�C�G[H3O
+]f = f(r)       )��N= ��دا[H3O

+]f  =  a.r       : (  1  
B�[H3O ا������ '�#  5

+]f  =  a.r        :                 91             6 ,4.10-5
 = a                                                            

K #�'[H3Oو���8�A B ا��/ازن 
+]f  =  K.r  :    Dو��  K = a = 6,4.10-5 

1,5  

K = 

=
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  ا���*�  ا�()اب  ر#" ا�&%ال

1.   Q�E ،ت�E/��د ا#�  1   .ا\�Mرة إ����� ���#E# ا��]�* ا���� �HE* ا�*,��ن إ�� 
  1  .4'/اة ا����7/م   .1.2.     2

       2.2.   ^��241:      ���د�� ا�� 237 4
95 m 93 p 2A     N    +  He→→→→

  
,�'/'� ?/دي

  
1,5  

        3.2.  
     

(((( )))) (((( )))) (((( ))))237 4 241 2
1E   =   m Np  + m He  - m Am .c    

      
                           E1= 5,7 MeV  

 K!�,#7� _��G آ��*) �,�S ��M �7� �,�N�ه`1 ا *�[Gα  

  
2  

  1  13ا��/اة ا���/�#ة �a* ا��&�$*ة ه  ا��*8/ن   .3
4.   &�N�d�*ع آ���M1  إ  
  1  0ن ��* ا��IL اE*��0&�/م �# آ%�*  .5
  

3���� 4,5( :ا�(�ء ا��4(  

  ا���*�  ا�()اب  ر#" ا�&%ال
1:   ���د�� �G/ل ا�L/دE/م   .1.1.     1 23 24

0 11 11n + Na    Na→→→→
  

1  

  1  .24'/اة �a* �&�$*ة ا�L/دE/م   .2.1        
2.   ^��24:     ���د�� ا�� 24 0

11 12 1Na    Mg *  +  n−−−−→→→→  1  

%�G�g إ���*و'�ت B��E ا.����ل �,- ��`1 ا\���*و'�ت fA ,��س M#ة ا����ر   .3
آ��� ��دة ا���دة 8�# ذ�h���&' i آ��� ��دة ا\���*و'�ت ا���%��C و�8����  

  ).ا�L/دE/م(ا�#=��7 

1,5  

  
��� 6(  :ا�!��
  ا��ا�9 (  

  ا���*�  ا�()اب  ر#" ا�&%ال
1.  

1,�'/ن د��Eرت : ����� ا�'�&�ر 
Jaune

1

sin i
n  = 1 ,414

sin r
====    

1i = 1rزاو�E ا�/رود   45° =   زاو�E ا�'�&�ر ��7 ا�/�D ا0ول  30° 

  
1  

  i’=75°   2: زاو�E ا�/رود ��7 ا��*jة ه    . 2
�m ا�]*وف ا���*E%�� ا�&�8$� أي ورود k/ء  .3'  F  �N$��ا m�'  F *�)أI 

 KC%��. ر أي/M/��ا ��m زاوي ا�/رود .���*ف '�/ ا0��7 8#ا=' ^�Gو
 B�8 #�/G �N$' B�K  ةj*���7 ا�ورأس ا��/M/ر و�8����  .�&$- ا�H��ع 

 �N$��# ا�8 #�/G �N$'  FLm���ء ا0زرق .��#ث ا/R7� �%&���8 أ�� ،.  

  
1  

I�S ا�R/ء (F  (��� ورود ا�R/ء ا�H�. p�80ه# B� -E*M ا0�/ان   .4
p�80ا ( �N$��ا  FL  7/ن�&�ر وا���7 ا�  �&�(�g .��/ن ا�7/ن ا�%�

  ..��Hه# $8�� �R�8ء B��I، أ�� F  ا��$�N ا0(�* ��7 ا��

  
2  

 
  

 


